1T #HhHEERY - HEHY - FRBDHER

£E5A81HBA

X % | BT |18/ IViZBT|[BAPIET | BABET|IB T #f|5tkiTst X % B |18/ Vs BT B RPIET| IBABET 1B T #F|§tkst
FRE | N I 3 - 3|1 () - 7 FRE | AN I 2 - 3|1 (%) - 6
Fao 31 - 3 - - - 3 Fao 31 - 3 - - - 3
ERS | # % | 113|261 88 462 ER% | & % 72| 256 123 451
] 59| 112 41 212 42| 130 65 237
H13 ES 54| 149 47 20| 16 30| 126 58 214
SR 7 14 7 28 = ENE 17 7 30
HEH 10 21 16 47 #HE % 23 10 A1
B8 % - 5 - 5 BE% - 3 - 3
FRE | N I 3 - 3|1 (%) - 7 FRE | A I 2 - 3|1 (%) - 6
Fa 3 - 3 - - - 3 Fa 31 - 3 - - - 3
BSR4 | # #%| 105 253 109 467 ERM | % % 74| 289 98 461
] 51/ 119 53 223 43| 141 47 231

H14 H17
E3 54| 134 56 244 31| 148 51 230
R 7 15 7 29 Ve 6 17 8 31
HEH 10 23 11 44 HEH 8 25 11 44
8% - 3 - 3 BE% - 3 - 3
FRE | A I 2 - 3|1 () - 6 FRE | A I 3
Fa 31 - 3 - - - 3 i 3
ER%| B3 77| 212|147 496 ERH | # % 511
5 42| 137 81 260 259

H15 H18
ES 35| 135 66 236 252
FHRE 14 8 28 SR 29
HEH 23 14 45 HEH 42
BE% - 3 - 3 A 10
F D) HEH-BAREIABTEOH BN ERERRE
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